Partitioning the set to help add 2 digit to single digit numbers.

Sheet one – working within ten – no bridging.


12 + 7 =

· Partition the 12 into  (10 + 2)
· Write the new sum like this:- (10 + 2) + 7

· Add the 2 + 7 digits first.

· Add that answer to the 10
· Write the total

Now do these:-

	13 + 3 = 
	(10 + 3) + 3 =
	10 + 6 =
	  16

	12 + 1 =
	
	
	

	14 + 2 =
	
	
	

	13 + 6 =
	
	
	

	18 + 1 =
	
	
	

	15 + 2 =
	
	
	

	12 + 7 =
	
	
	

	17 + 2 =
	
	
	

	12 + 6 =
	
	
	

	13 + 5 =
	
	
	

	11 + 7 =
	
	
	

	16 + 3 =
	
	
	

	14 + 5 =
	
	
	

	15 + 6 =
	
	
	

	22 + 6 

	
	
	

	12 + 3 =
	
	
	


